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% Answer questions in English and in essay form. **

1. Discuss possible grammatical function(s) of the morpheme —gu (NGU) in
Dyirbal. If possible, identify the data that may be problematic for the
generalization(s) you make. (Note that NONFUT = Non-future; PL=Plural; 1 =
First person; 2 = Second Person) (25%)

a. numa banaga-nyu

father  return-NONFUT : ‘Father returned.’
b. yabu ‘ miyanda-nyu

mother laugh-NONFUT ~ ‘Mother laughed.”
¢. yabu numa-ggu bura-n

mother father-NGU  see-NONFUT ‘Father saw mother.’
d. numa banaga-nyu yabu-pgu bura-n

father return-NONFUT mother- NGU see~NONFUT
‘Father returned and mother saw [him].’
e. pana banaga-nyu
1PL return-NONFUT ‘We returned.’

f nyurra puma  bura-n

2PL.  father  see-NONFUT “You saw father.’
g. pana-na  yabu-pgu bura-n

1PL mother-NGU see-NONFUT ‘Mother saw us.’
h. pana  banaga-nyu nyurra  bura-n

1PL  return-NONFUT 2PL - see-NONFUT

“We returned and you saw [us].’
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2. Consider some morphophonemic alternations in Polish below.

Nominative Singular Nominative Plural

[holender] [holendra]
[den] [dno]
[order] [orderu]
[katedr] [katedra]
[ser] [sera]
[perew] [perwa]
[blizn] [blizna]
[vojen] [vojna]
[karmel] [karmelu]
[wez] : [wza]
[ren] [rena]
[zebr] [zebra]

Gloss
‘Dutchman’
‘bottom’
‘order’
‘cathedral’
‘cheese’
‘pearl’

‘scar’

3 )

war
‘caramel’
‘tear’

‘reindeer’

‘zebra’

What are the underlyihg forms for ‘zebra’, ‘order’ and ‘Dutchman’? Justify

your answer. (25%)

3. Ezafe (“BZ” below) refers to a particle that occurs in a number of Indo-Iranian
languages like Modern Persian (Farsi), Kurdish, Zazaki, etc. Consider now the

data below.

a. del-é sang
heart-EZ stone

b. manzel-¢ Mansur
house-EZ Personal name

c. shahr-é6 Tehran

city-EZ  Tehran

‘stone heart’

‘Mansur’s house’

“Tehran city’
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d. Ali-é Ghozati ‘Ali Ghozati’
Ali-EZ Ghozati

e. terib-é sheehr ‘destruction of the city”
destruction-EZ city
f. hordan-é ab ‘drinking of water’

drinking-EZ  water

g. forunshandé-yé ketdb ' ‘seller of books’
seller-EZ book

h. otag-¢ besayr  kucik ‘very small room’
room-EZ very small

i. ketdb-¢  sabz-é jéleb ‘interesting green book’

book-EZ green-EZ interesting

j. neg®ran-€ baeche ‘worried about children’
worried-EZ  children

k. beyn-é man-o  to ‘between you and me’
between-EZ  me-and you

l. aks-é [¢ap Sode dar ruzndme]
photo-EZ publication ~ become in newspaper

‘the photo published in the newspaper’

Discuss differences between Ezdfe and de “#%” in Mandarin Chinese. (Hint: Is
Ezafe more similar to “of” or to “’s” in English?) (25%)

4. Discuss how plural forms are derived in the following data. Is there a rule (or
set of rules) that produces the correct plural form of each noun? You are not
required to formalize the rule(s). Just describe them in prose. (25%)

Continue to the next page.
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Gloss Singular Plural Gloss Singular Plural
‘scorpion’ mnakfir  nankfir ‘cocoon’ kosvur  koksvur
‘worker’  pion pipion ‘wart’ Pupurik  Pu?upurik
‘cardinal’ sipuk  sispuk ‘Jower skull’ kufva  kukfva |
‘blacksmith” hiro hihiro ‘soul’ doakag dodoakag
Jion’ mavit mamvit ‘lima bean’ havor  hahavor
“firecracker’ kuitas  kukuitas- ‘carlobe’  mak nank
‘dress’ ?iput ?i?iput “firefly’ taivig ~ tataivig

‘party’ piast  pipiast

**%* The exam ends. ***




